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Q5. 

 

 

A.  B.  

C.  D.  

 

Q6. __________ is the synonym of "DEVASTATING". 
 

A. Grand B. Destructive 

C. Huge D. Constructive 

 

Q7. __________ is the antonym of "ENCOURAGE". 
 

A. Discourage B. Applaud 

C. Praise D. Sympathise 

 

Q8. Identify the meaning of the idiom 
 
"in the heat of the moment" 

 

A. Angered by what is happening around B. Affected by the hot weather at that instant 

C. Swept away by what is happening at that 

instant 

D. Wounded by the high temperature at that 

moment 

 

Q9. The sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
"He told her that nothing about his discussion with the team." 

 

A. He told her nothing about his discussion with 

the team. 

B. He told her that nothing about his discussing 

with the team. 

C. He told that nothing about his discussion with 

the team. 

D. He told her nothing that about his discussion 

with the team. 
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Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
I never _______ (use) to miss my drawing classes in school. 

 

A. used B. use 

C. using D. uses 

 

Q11. In India, the first Lok Sabha was constituted after national elections under the constitution 
in the year ______. 

 

A. 1948 B. 1954 

C. 1952 D. 1950 

Q11. .?1$ /े䜂, ___________ /े䜂 A�=?'?( �O  
�$}ग$ +BलO 1?�रI0 �J(?? �O  -?& +BलI लK�A.? �? } ( =�0? }0? %?। 
 

A. 1948 B. 1954 

C. 1952 D. 1950 

 

Q12. In 2019, Shri Pranab Mukherjee was awarded the __________. 
 

A. Bharat Ratna B. Padma Vibhushan 

C. Order of British Empire D. Chevalier Award 

Q12. 2019 /े䜂, ्䵦I �#? /J�}I �K __________ AO Aम⹍/?=($ =�0? }0?। 
 

A. -?0- 0m1 B. +द♍. =?-@ू, 

C. �})0 ऑफ़ }ि�?? एम⹍+?/0 D. ?O?;ि/0 
??}) 
 

Q13. Which one of the states below does NOT share its border with Nepal? 
 

A. Bihar B. Sikkim 

C. Arunachal Pradesh D. Uttar Pradesh 

Q13. =(म⹍(=ल=�$ 1?जᱍ0ो䬂 /े䜂 AO �L( A? 1?जᱍ0, (O+?ल �O  A?% 
+(I AI/? A?�? (BK �1$? BP? 
 

A. }?9?0 B. ;?]क?. 

C. 
y,?�ि ्䵚/O? D. �्䵈0 ्䵚/O? 
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Q14. Under UDAN scheme launched by the Union government, airfare has been capped at Rs. 
2500 for one hour journey of ____ kilometres. 

 

A. 300 B. 500 

C. 400 D. 600 

Q14. �े䜂 � A1�?1 �?1? ?Jz �ी }� UDAN 0K}(? �O  
�$}ग$, ____ =�लK/I�1 �ी ए� ���O �ी 0?}? �O  =लए =?/?( �? =�1?0? 2500 
y+0O $� AI=/$ 1�? }0? BP। 

 

A. 300 B. 500 

C. 400 D. 600 

 

Q15. Faridabad was carved out of _________ district of Haryana. 
 

A. Rohtak B. Hisar 

C. Gurgaon D. Karnal 

Q15. Bर10?#? �O  _________ =}लO /े䜂 AO ,1I&?-?& �? =(/?ग# =�0? }0? %?। 
 

A. 0K9-? B. �9??0 

C.  I= ??? D. ?01?ि 

 

Q16. When was President's rule imposed for the first time in Haryana? 
 

A. 1969 B. 1984 

C. 1967 D. 1977 

Q16. Bर10?#? /े䜂 +BलI -?1 1?�र+=$ ??A( �- ल}?0? }0? %?? 
 

A. 1969 B. 1984 

C. 1967 D. 1977 

 

Q17. Lala Lajpat Rai was seriously injured and died because of those injuries that he received 
during the protest against ___________. 

 

A. Simon Commission B. Partition of Bengal 

C. Partition of India D. Visit of King Edward VI 
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Q17. ल?ल? ल?}+$ 1?0 }�.I1 z+ AO �?0ल BK }ए %O �1 �( �K�ो䬂 �O  �?1# �(�ी /L$ BK }� %I }K �mBे䜂 ___________ �? =?1K' 
�1$O A/0 ल}I %K। 

 

A. ??�.1 ?.I?1 B. ?? ?ि ?? =?-?�1 

C. -?0- ?? =?-?�1 D. 0?�? ए}?}) @�). ?I /?्䵔? 
 

Q18. Which commission divided and set-up the boundaries of Punjab and Haryana? 
 

A. Punjab Commission B. Shah Commission 

C. Indian Commission D. Hukam Singh Commission 

Q18. =�A �0K} (O +�}?- �1 Bर10?#? �ी AI/?� � �K =?.?=}$ �1 =('?गर1$ =�0?? 
 

A. +?�?? �/K  B. ??9 �/K  

C. -?0-I/ �/K  D. 9ू?. ;??9 �/K  

 

Q19. In Haryana, the scheme 'Deenbandhu Haryana Gram Uday Yojana', named after _______ 
will focus on development of villages. 

 

A. Shri Deshbandhu Gupta B. Shri Ganga Singh Gurjar 

C. Babu Mool Chand Jain D. Choudhary Chhotu Ram 

Q19. Bर10?#? /े䜂, '&I(-�'J Bर10?#? ्䵇?/ �&0 0K}(?', =}A�? (?/ __________ �O  (?/ +1 1�? }0? BP, }???ो䬂 �O  =?�?A +1 �O =m�$ 
BK}I। 

 

A. ्䵦I /O???0I  Io-? B. ्䵦I  ? ? ;??9  I�)0 

C. ???I .िू �?/ �P1 D. �L00I �K?ू 0?. 

 

Q20. Haryana had gone paperless under the _________ by August 15, 2018. 
 

A. E-Disha Project B. E-Office Project 

C. CM Window Project D. IFMS Project 

Q20. Bर10?#? 15 
}}$ 2018 $�, _________ �O  $B$ +O+1लOA BK }0? %?| 
 

A. �-�/?? +90/K�1? B. �-ऑ+?? +90/K�1? 

C. CM =??}K +90/K�1? D. IFMS +90/K�1? 
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Q21. In the last 2018 Asian Games, wrestler Vinesh Phogat won the ______ in women's 50kg 
freestyle wrestling. 

 

A. Gold B. Silver 

C. Bronze D. Fourth place 

Q21. =+�लO 2018 ए=?0?� �Oलो䬂 /े䜂, +Bल??( =?(O? ,K}� (O, /=Bल? 50 =�लK्䵇?/ ्䵛ी}�?�ल �J �$I /े䜂 ____________ }I$? %?। 
 

A.  Kल㉍} B. ;?ल㉍?0 

C. िो䬂� D. �L.? }.?1 

 

Q22. First paperless department of Haryana is ___________. 
 

A. Industrial Training Department B. Agriculture Department 

C. Finance Department D. Transport Department 

Q22. ___________ Bर10?#? �? +Bल? �?}} 1=B$ =?.?} BP। 
 

A. �द♍/K� ? ्䵚;?�, =?-?  B. ?ृ=@ =?-?  

C. =?्䵈 =?-?  D. +90?91 =?-?  

 

Q23. What is the main objective/intent for launching the Sex Ratio Monitoring Dashboard in 
Haryana? 

 

A. To address the issue of declining Child Sex 

Ratio (CSR) 

B. To issue birth certificates online 

C. To monitor healthcare of newborns D. To make it easy for the 2021 census 

Q23. Bर10?#? /े䜂 =ल�} 
(J+?$ =(}1?(I !P?-K!ग लQm� �1(O �? /J_0 �oO�0 /�1?&? ]0? BP? 
 

A. !?-O ;??I ;ि?  
1I+?- (?I.ए?.�0) ?O  .Iद♍/O ?K 9ि ?01O 
?O  ;िए 

B. ऑ1ि?�1 �m. ्䵚.?,-+्䵔 �?0I ?01O ?O  ;िए 

C. 1?�?- ;??I�? ?I }??}M/ ?O?? ?I )1 0?1I ?01O ?O  ;िए D. 2021 ?I �1 ,1? ?K �??1 ?1?1O ?O  ;िए 
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Q24. In the present Haryana cabinet, (as on 14-November-2019), the portfolio of Information 
Technology, Electronics and Communication is held by; 

 

A. Shri Manohar Lal Khattar B. Shri Om Prakash Dhankar 

C. Shri Anil Vij D. Shri Ram Bilas Sharma 

Q24. ?$ग/?( Bर10?#? �P =-(O� /े䜂, (14-(?�-1-2019 �K), AK�(? �LoK=}�ी, �लO]रQ=(]A �1 A��?1 =?.?} �?1? �0K=}$ =�0? }?$? BP; 
 

A. ्䵦I .1K90 ि?ि �टὍ?0 B. ्䵦I �. ्䵚??? 01�= 

C. ्䵦I 
)1ि =?� D. ्䵦I 0?. }?ि?? ?.?) 
 

Q25. Hazrat Amir Khusrau was one of the most famed cultural and literary luminaries, lived 
during which period? 

 

A. 1190 – 1245 B. 1867 - 1930 

C. 1650 - 1740 D. 1253 - 1325 

Q25. B=1$ 
/I1 �JA1K A-AO �=Ap A?�}�L =$� �1 A?=B=/0� =&_}} /े䜂 AO ए� %O, ?B =�A �?ल /े䜂 1B$O %O? 
 

A. 1190 – 1245 B. 1867 - 1930 

C. 1650 - 1740 D. 1253 - 1325 

 

Q26. Joginder Singh, the educationist and literature of Shahabad, did NOT write in 
__________. 

 

A. Awadhi B. Hindi 

C. Punjabi D. Urdu 

Q26. ??B-?& �O  =?�?=?&M �1 A?=B/0�?1, }K=}�&1 =A�B __________ /े䜂 (BK =ल�$O %O। 
 

A. 
?0I B. �9?/I 

C. +?�??I D. �/ू) 
 

Q27. Pandit Neki Ram Sharma from Bhiwani, started a magazine (Sandesh), which was in 
_______. 

 

A. Urdu B. Haryanvi 

C. Punjabi D. Hindi 
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Q27. =.??(I �O  +�=!$ (O�ी 1?/ ?/?ग (O ए� +=}�? (A�&O?) ?Jz �ी, }K _______ /े䜂 %?। 
 

A. �/ू) B. 990/?,?I 

C. +?�??I D. �9?/I 
 

Q28. Which award is given by Haryana Urdu Sahitya Akademi for the contribution in the field 
of Urdu? 

 

A. Sahitya Award B. Urdu Award 

C. Urdu Ratna Award D. Hali Award 

Q28. �&Kग �O  �O} /े䜂 0K}&?( �O  =लए Bर10?#? �&Kग A?=B/0 
�?&/I �?1? �L( A? +J1}�?1 =&0? }?$? BP? 
 

A. ??�9m/ +I0}??0 B. �/ू) +I0}??0 

C. �/ू) 0m1 +I0}??0 D. 9?िI +I0}??0 
 

Q29. The Hathni Kund is a concrete barrage located on the ________ river. 
 

A. Yamuna B. Markhanda 

C. Indori D. Tangri 

Q29. B%(I �J� ! ________ (&I +1 =}%$ ए�  KA -P1?} BP। 
 

A. /.I1? B. .?0?? }? 

C. �m/K0I D. ??? 0I 
 

Q30. The name of which district in Haryana came from Jaintapuri? 
 

A. Jind B. Nuh 

C. Jhajjar D. Palwal 

Q30. Bर10?#? �O  =�A =}लO �? (?/ }P($?+J1I AO =ल0? }0? %?? 
 

A. �I?/ B. 1I9 

C. �जᱍ�0 D. +ि?ि 
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Q31. Morni hills is located in which District of Haryana? 
 

A. Panchkula B. Kaithal 

C. Kurukshetra D. Sonipat 

Q31. /K1(I +B?=?0?? Bर10?#? �O  =�A =}लO /े䜂 =}%$ Bै䠂? 
 

A. +?�?I ि? B. ?P .ि 

C. ?I y�O्䵔 D. ?K1I+- 

 

Q32. The Cantonment Headquarters of the Indian Western Command is located in which city? 
 

A. Panchkula B. Faridabad 

C. Rohtak D. Ambala 

Q32. .?1$I0 +=ि/I �/?( �? �??(I /J_0?ल0 =�A ?B1 /े䜂 =}%$ BP? 
 

A. +?�?I ि? B. ?0I/???/ 

C. 0K9-? D. 
???ि? 
 

Q33. Central Soil Salinity Research Institute (CSSRI) is situated in __________. 
 

A. Karnal B. Nuh 

C. Faridabad D. Panipat 

Q33. �े䜂 �I0 /L&? ल?#$? 
(JA�'?( A�}%?( (AI.एA.एA.�1.��.) __________ /े䜂 =}%$ BP। 
 

A. ?01?ि B. 1I9 

C. ?0I/???/ D. +?1I+- 

 

Q34. Which district of Haryana has the lowest number of seats in Haryana Legislative 
Assembly? 

 

A. Sirsa B. Panipat 

C. Panchkula D. Gurgaon 
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Q34. Bर10?#? �O  =�A =}लO /े䜂 Bर10?#? =?'?( A.? �ी A-AO �/ AI�े䜂 Bै䠂? 
 

A. ;?0?? B. +?1I+- 

C. +?�?I ि? D.  I= ??? 

 

Q35. Elections for the Panchayat are conducted by _________. 
 

A. State Election Commission B. Central Government 

C. District Magistrate D. Governor 

Q35. +��?0$ �? �J(?? _________ �O  �?1? =�0? }?$? BP। 
 

A. 0?जᱍ/ )1??)�1 �/K  B. ?े䜂 � ?0??0 

C. ]�ि? m/?/?0I? D. 0?जᱍ/+?ि 

 

Q36. VRML stands for: 
 

A. Virtual Reality Memory Language B. Virtual Reality Modeling Language 

C. Viral Reality Modeling Language D. Viral Reality Memory Language 

Q36. VRML �? /$ल- BP: 
 

A. ?�I)
ि 90/;ि?I .O.K0I िै䠂गᝍ?O� B. ?�I)
ि 90/;ि?I .K};ि?  िै䠂गᝍ?O� 

C. ??/0ि 90/;ि?I .K};ि?  िै䠂गᝍ?O� D. ??/0ि 90/;ि?I .O.K0I िै䠂गᝍ?O� 

 

Q37. Which of the following periods are coldest in Haryana? 
 

A. October-November B. November-December 

C. February-March D. December-January 

Q37. �(/े䜂 AO =�A 
?=' /े䜂 Bर10?#? /े䜂 A-AO जᱍ0?&?  o! +?$I BP? 
 

A. 
क?ू?0-1???0 B. 1???0-�/???0 

C. फ़0?0I-.?�) D. �/???0-�1?0I 
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Q38. The fertility of the soil is fast depleted when ______ is grown. 
 

A. wheat B. rice 

C. cotton D. flowers 

Q38. ______ �}?(O +1 =/्䴾I �ी �?ग1$? $O}I AO A/?्䵎 BK }?$I BP। 
 

A.  O9ूK B. �??ि 

C. ?+?? D. ?ूि 

 

Q39. The process of carrying out commands is: 
 

A. Encoding B. Executing 

C. Debugging D. Phishing 

Q39. �&O?ो䬂 (commands) �K +K1? �1(O �ी �=ि0?: 
 

A. एm?K)} ?  B. एक?क/�ू??  

C. )}?� ?  D. +?;??  

 

Q40. Pick the odd one out: 
 
Frog, Kangaroo, Hare, Snake 

 

A. Frog B. Kangaroo 

C. Hare D. Snake 

Q40. =.m( �K �J(े䜂: 
 

/े䜂"�, �� }?z, �1}K?, A?�+ 
 

A. .े䜂+? B. ??  ?z 

C. �0 K? D. ???+ 
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Q41. Find the analogy. 
 
DCB : KJI :: QPO : ? 

 

A. RST B. FGH 

C. UTS D. PRS 

Q41. A/?($? "K�"े䜂। 
 
DCB : KJI :: QPO : ? 

 

A. RST B. FGH 

C. UTS D. PRS 

 

Q42. Find the missing number. 
 
8, 54, 192, ?, 1080 

 

A. 250 B. 500 

C. 780 D. 926 

Q42. लJ्䵎 A�_0? _?$ �ी=}0O। 
 
8, 54, 192, ?, 1080 

 

A. 250 B. 500 

C. 780 D. 926 

 

Q43. If MAN is coded as NAMO. How will be WOMAN coded? 
 

A. NAMOWO B. NAMOOW 

C. WONAMO D. NAWOMO 

Q43. 0=& ए� �K! .?@? /े䜂 MAN �K NAMO =ल�? }?$? BP $K WOMAN �K ]0? =ल�? }?ए}?? 
 

A. NAMOWO B. NAMOOW 

C. WONAMO D. NAWOMO 
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Q44. Find the value of X in the following equation: 

 
 

A. 8.2 B. 9.3 

C. 10.4 D. 11.5 

Q44. =(म⹍(=ल=�$ A/I�1# /े䜂 X �? /?( =(�?ले䜂: 

 
 

A. 8.2 B. 9.3 

C. 10.4 D. 11.5 

 

Q45. Consider an experiment where two coins are tossed once. Find the sample space of the 
experiment. 

 

A. S = {HH, HT, TH, TT} B. S = {HH, TH, TT} 

C. S = {HH, HT} D. S = {HT} 

Q45. ए� �0K} +1 =?�?1 �1े䜂 }B?� ए� -?1 /े䜂 &K =A]�O  ��?लO }?$O Bै䠂। �0K} �? (/K(? }%?( "K�"े䜂। 
 

A. S = {HH, HT, TH, TT} B. S = {HH, TH, TT} 

C. S = {HH, HT} D. S = {HT} 

 

Q46. Sameer bought 60 oranges out of which 5% were rotten. How many oranges were in good 
condition? 

 

A. 25 B. 36 

C. 45 D. 57 

Q46. A/I1 (O 60 A�$1O ?1I&O =}(/े䜂 AO 5% A?O Bुए %O। =�$(O A�$1O 
चᩍ�O %O? 
 

A. 25 B. 36 

C. 45 D. 57 

 

Q47. The loss incurred by selling a mobile phone is Rs.1000. Find the loss percentage if the cost 
of the mobile phone was Rs.16000. 

 

A. 4.50% B. 5.65% 

C. 6.25% D. 7.45% 
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Q47. ए� /K-?�ल ,K( -O�(O +1 1000 y+0O �? (J�A?( Bु� BP। 0=& /K-?�ल ,K( �ी ल?}$ 16000 y+0O %I $K (J�A?( �? �=$?$ 
-$?ए�। 

 

A. 4.50% B. 5.65% 

C. 6.25% D. 7.45% 

 

Q48. A physical quantity that is specified by only its magnitude (length, weight etc.) is 
__________. 

 

A. Vector B. Scalar 

C. Velocity D. Force 

Q48. ए� .L=$� 1?=?, =}AO =A,ग  �A�O  +र1/?# (ल�-?�, ?}( �=&) �O  �?1? =(=&ग्䵖 =�0? }?$? BP, �AO __________ 1?=? �B? }?$? 
BP। 

 

A. ?�/? B. 
�/? 

C. ?O  D. ?ि 

 

Q49. The organic molecules consisting wholly of carbon and hydrogen atoms are called 
_________. 

 

A. Halogens B. Metalloids 

C. Hydrocarbons D. Alkalis 

Q49. A�+K#ग z+ AO �?-ग( �1 B?�्䵑K}( �O  +1/?#J ??लO �?-ग=(� 
#J� � �K _________ �B? }?$? BP। 
 

A. 9PिK�1 B. .O?िI/} 

C. 9?�्䵑K???)1 D. �?0 
 

Q50. Human blood can be classified into ___________ groups depending upon the distribution 
of antigens and antibodies. 

 

A. 2 B. 3 

C. 4 D. 5 
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Q50. /?(? 1्䴹 �K ए��I}( �1 ए��I-Q!I �O  =?$1# �O  �'?1 +1 ___________ A/KBो䬂 /े䜂 ?}I�L $ =�0? }? A�$? BP। 
 

A. 2 B. 3 

C. 4 D. 5 

 

Q51. What is the formula for calculating Total Factor Productivity? 
 

A. Output/Labour Input B. Net Output/(Labour + Capital) Inputs 

C. Total Tangible Output/Total Tangible Input D. Current Year Price/Base Year Price 

Q51. �J ल ��� �/+?&�$? _?$ �1(O �? AK} ]0? BP ? 
 

A. �m+?/1/्䵦. )1?]�? B. ?Iद♍0 �m+?/1/(्䵦.++IK�I) )1=?]�? 

C. ?I ि ??}-=?? �m+?/1/?I ि ??}-=?? )1=?]�? D. ?-).?1 ?@) .लू㉍//�0?0 ?@) .लू㉍/ 

 

Q52. Which of the following factors will increase productivity? 
 

A. Large variety of product design B. Increase in volume of production 

C. Break in production D. Method Improvement 

Q52. =(म⹍( �?1�ो䬂 /े䜂 AO �L( A? �/+?&�$? -]?$? BP ? 
 

A. �m+?/ )}ज़?�1 ?I =???ि =?=?0-? B. �m+?/1 ?I .?्䵔? .े䜂 ?दृ♍�0 

C. �m+?/1 .े䜂 =?0?. D. =?�0 ???K01 

 

Q53. What is Work Study? 
 

A. It is defined as the analysis of a job for the 

purpose of finding the preferred method of doing 

it. 

B. It refers to the amount of work contained in 

any job. 

C. It is a technique of analyzing the body motions 

employed in doing a task. 

D. It is the study of people's efficiency in their 

working environment. 
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Q53. �?0ग 
o00( ]0? BK$? BP? 
 

A. /9 ??)-्䵚0?1 =?�0 +-? ?01O ?O  ;िए +?/O  ए ??. ?O  
=?�िO@, ?O  z+ .े䜂 +90-?=@- +?/? �?-? 9P| 

B. /9 +??I ??. .े䜂 ??/) ?I .?्䵔? ?K ??/;-)- ?0-? 9P| 

C. /9 +??I ??/) .े䜂 ??/)0- ??0I90? ???O -ो䬂 ?O  =?�िO@, ?I 
-?1I? 9P| 

D. /9 िK K ?I �1?O  ??/) +90?O? .े䜂 �1?I /�-? ?? 
o//1 

9P| 
 

Q54. Which of the following procedures is NOT followed in Method Study? 
 

A. Select the job B. Estimate the manpower requirements 

C. Obtain the information D. Install the new practice 

Q54. (I�O =&ए }� �=ि0?� � /े䜂 AO =�A�? =?=' 
o00( /े䜂 
(JA1# नही䀂 BK$? BP ? 
 

A. 1L?0I ?? �/1 ?0े䜂 B. ्䵦.?]क- �?�/?-?� ?? �?ि1 

C. ?�ू1? ्䵚?o- ?01? D. 1/O +द♍0)- ्䵅. ?? }.?+1 

 

Q55. Which human aspect is taken into consideration in Method Study? 
 

A. Production abilities B. Technical knowhow 

C. Cost of manpower D. Emotional reactions 

Q55. =?=' 
o00( /े䜂 =�A /?(?I0 +BलK +1 =?�?1 =�0? }?$? BP ? 
 

A. �m+?/1 �.-?�? B. -?1I?I =??O@_-? 

C. ्䵦.?]क- ?I ि? - D. -??1?m.? ्䵚)-+्䵅/?�? 
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Q56. Which of the following symbols represents 'Grasp' in Therblig? 
 

A.  
B.  

C.  

D.  

Q56. =(म⹍( /े䜂 AO =�A �=$z+ �?1? %-गलI[ /े䜂 '+�?' �K &??ग0? }?$? BP ? 
 

A.  
B.  

C.  

D.  

 

Q57. Which of the statement is NOT true about Work Sampling? 
 

A. It is a pictorial form of data collection B. It is helpful when urgent information is 

required about workers and machine 

C. It is a method of random data collection based 

on observation 

D. It can be used to collect data about every type 

of work 

 

 

 

 

 

 

 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 50, Machinist Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Morning Session 
 

December 12, 2019  Page 18 of 29 

 

Q57. �?0ग �=$�0( =?=' �O  -?1O /े䜂 �L(A? �%( A/0 नही䀂 BP ? 
 

A. /9 
?? ??्䵇9, ?? ?��्䵔 z+ 9P | B. /9 �? .// ?0 9K-? 9P �? 9.े䜂 ?.)�?90/ो䬂 �0 .?I1ो䬂 ?O  
??0O .े䜂 -I0?- �?1??0I �?�9ए 9K-I 9P | 

C. /9 
?िK?1 ?O  �0?0 +0 ?O-0-I? 
?? ??्䵇9, ?I =?�0 9P 
| 

D. �?O 90 ्䵚??0 ?O  ??/) ?O  
?? ??्䵇9, ?O  ??. .े䜂 ;ि/? �? 
??-? 9P | 

 

Q58. In which incentive plan, minute is taken as the standard unit for measuring time? 
 

A. Rowan Bonus Plan B. Halsey Premium Plan 

C. Emerson Efficiency Plan D. Bedeaux Point Plan 

Q58. =�A �K/A?B( 0K}(? /े䜂 =/(� �K A/0 /?+(O �ी /?(� ��?� =ल0? }?$? BP ? 
 

A. 0K?1 ?K1? /K�1? B. 9ि?O ्䵚I;./. /K�1? 

C. ए.?)1 /�-? /K�1? D. ?O}Iक? +I�m? /K�1? 
 

Q59. Dispatching is a step performed in _____. 
 

A. Method Study B. Work Assessment 

C. Production Planning and Control D. Estimation and Costing 

Q59. �O@# ______ /े䜂 =ल0? }?(O ??ल? ए� �&/ BP | 
 

A. =?�0 
o//1 B. ??/) .लू㉍/???1 

C. �m+?/1 /K�1? ? )1/?्䵔, D. �?ि1 ? ि? - )10?)0, 

 

Q60. Which of the following is an overhead cost for welding? 
 

A. Labour cost B. Raw material cost 

C. Official costs D. Power consumption costs 

Q60. =(म⹍( /े䜂 AO �L( AI ?I=्!�} (AJ�?z z+ AO �ल?(O �O  =लए) �ी �+र1??0I ल?}$ BP? 
 

A. ्䵦. ि? - B. ?चᩍ�? .?ि ि? - 

C. ��0??90? ि? - D. }?�िI �+-K  ि? - 
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Q61. Which of the following sentences describes the difference between cost and estimation 
correctly? 

 

A. Estimation is done by accountants, and the cost 

is calculated by engineers 

B. Estimation tells the profits earned by the 

product, and cost tells the probable expenses to 

incur for manufacturing the product 

C. Estimation calculates the probable cost of the 

product, and cost determines the actual cost of 

the product including various expenses 

D. Estimation requires knowledge of accounts, 

and costing requires vast technical knowledge 

Q61. ल?}$ �1 
(J/?( �O  -I� �O  ^�ग  �K (I�O =&0O ??]0ो䬂 �?1? ABI AO ?=#ग$ =�0? }0? BP ? 
 

A. �?ि1 िO�???0ो䬂 द♍??0? +?/? �?-? 9P, ? ि? - ?I  ,1? 

;-/?-?�? द♍??0? ?I �?-I 9P | 

B. �?ि1 +??I �m+?/ +0 �+?]�)- .I1??? ?-?-? 9P, ? 
ि? - �m+?/ +0 9K1O ??िO ??-?=?- ��ो䬂 ?O  ??0O .े䜂 ?-?-? 9P | 

C. �?ि1 +??I �m+?/ ?I ??-?=?- ि? - ?-?-? 9P, ? ि? - 

=?;-m1 ��ो䬂 ?K ??;.ि ?0?O  �m+?/ ?I 
?ि ि? - ?-?-? 9P 
| 

D. �?ि1 ?O  ;िए िO�?_?1 �z0I 9K-? 9P, ? ि? - ?O  ;िए 
}/?+? -?1I?I _?1 �z0I 9K-? 9P | 

 

Q62. Which type of beam has both ends fixed and carries a point load at its centre? 
 

A. Overhanging Beam B. Built-In-Beam 

C. Cantilever Beam D. Continuous Beam 

Q62. =�A $1B �O  -I/ �O  &K(ो䬂 �K1 =}%1 BK$O Bै䠂 �1 �A�O  �े䜂 � /े䜂 ए� =-�&J .?1 ?B( �1$? BP? 
 

A. ि??-I 9I� ?I. B. ?]m1�9- ?I. 

C. ??9I0?0, ?I. D. 
1?0- ?I. 

 

Q63. Which amongst the following is NOT the feature of Fire tube boiler? 
 

A. These are operated at low pressures up to 20 

bar. 

B. It requires more floor area for a given output. 

C. Water doesn't circulate in a definite direction. D. Load fluctuations can be easily handled. 

Q63. (I�O =&ए }ए =?�्+ो䬂 /े䜂 AO �L( AI 
=_(-(=ल�? "Kल?�?1 -Q0ल1 �ी =??O@$? (BK BP ? 
 

A. /O 20 bar -? ?O  ??. /??? +0 ??�?;ि- 9K-O 9P | B. �?O +??I �/ए  ए �m+?/ ?O  ;िए जᱍ/?/? -ि �O्䵔?ि �?�9ए 
9K-? 9P | 

C. +?1I +??I )1]��- �/?? .े䜂 ्䵚??90- 19I? 9K-? 9P | D. -?0 ?O  �-?0-�]?? �??1I ?O ??-?िO �? ??-O 9P | 
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Q64. Choose the correct equation to express maximum torque in a circular shaft. 
 

A.  B.  

C.  
D.  

Q64. =�AI }Kल?�?1 ??o� +1 ल}(O ??लO ��K#ग -ल �? ?#ग( �1(O �O  =लए ABI A/I�1# �? �J(?? �ी=}0O। 
 

A.  B.  

C.  
D.  

 

Q65. Number of atoms per unit cell in body - centered cubic (bcc) is: 
 

A. Two B. Four 

C. Six D. Eight 

Q65. �?0�े䜂 =�$ �( A�1�(? /े䜂 �=$ AOल ��?� A�_0? _______ BK$I BP | 
 

A. /K B. �?0 

C. �ः 
D.  

 

Q66. The maximum amount of the strain energy which can be stored in the body up to the 
elastic limit is known as ___________. 

 

A. Modulus of resilience (Torsional Loading) B. Proof resilience 

C. Modulus of resilience (Shear Loading) D. Resilience 

Q66. =�AI ?}$J /े䜂 �/0?}% AI/? $� A�्䵇=B$ �ी }?(O ??लI 
='�$/ =?�L =$ �}?ग �K _________ �B$O BP | 
 

A. ि�IिO+1 ?? .?+??? (.0K= िK)} ? ) B. ्䵚.?+,? ि�Iि?+1 

C. ि�IिO+1 ?? .?+??? (?-01I �द♍00,) D. ि�Iि?+1 
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Q67. Which amongst the following is an example of radiation? 
 

A. A pot sitting on a hot burner B. Using a heating blanket to get warm 

C. Touching a metal spoon that is sitting in a pot 

of boiling water 

D. A person placing his hand over a hot burner 

Q67. =(म⹍( AO �L( =?=�1# �? ए� �&B?1# BP ? 
 

A.  0. ?1)0 +0 0�? 9I� ए? +?्䵔 | B.  0.?9? ?O  ;िए  0. ?01O ??ि? ?म⹍?ि ??. .े䜂 िO1? | 

C. �?ि-O +?1I ?O  +?्䵔 .े䜂 0�I 9I� 0?-I ?I �.चᩍ� ?K �ू1? | D.  0. ?1)0 +0 9?. 0�-? 9I� ए? }/]क- | 

 

Q68. Which carbon steel is used for making cutting tools, and springs? 
 

A. Medium Carbon Steel B. Soft Carbon Steel 

C. High Carbon Steel D. Low Carbon Steel 

Q68. �?�(O �O  �}?1 ? =}��} -(?(O �O  =लए =�A $1B �O  �?-ग( �}+?$ �? �}$O/?ल BK$? BP ? 
 

A. .o/. ???)1 �}+?- B. ?K.ि ???)1 �}+?- 

C. �चᩍ� ???)1 �}+?- D. )1म⹍1 ???)1 �}+?- 

 

Q69. Which amongst the following correctly defines Bernoulli's theorem? 
 

A. Whenever there is a decrease in the speed of 

the liquid, there is a simultaneous decrease in the 

potential energy of the fluid 

B. Whenever there is an increase in the speed of 

the liquid, there is a simultaneous decrease in the 

potential energy of the fluid 

C. Whenever there is an increase in the speed of 

the liquid, there is a simultaneous increase in the 

potential energy of the fluid 

D. Whenever there is a decrease in the speed of 

the liquid, there is a simultaneous increase in the 

potential energy of the fluid 

Q69. =(म⹍( /े䜂 AO �L( -(ौलI �/O0 �K ABI AO +र1.?=@$ �1$? BP ? 
 

A. �? ?-I �}/ ?I  )- .े䜂 0I.?+1 9K-I 9P, -? �}/ ?I 
]}.)-� ��?) .े䜂 -I ?.�+,? 0I.?+1 �-? 9P | 

B. �? ?-I �}/ ?I  )- .े䜂 -O�I 9K-I 9P, -? �}/ ?I 
]}.)-� ��?) .े䜂 ?.�+,? 0I.?+1 �-? 9P | 

C. �? ?-I �}/ ?I  )- .े䜂 -O�I 9K-? 9P, -? �}/ ?I 
]}.)-� ��?) .े䜂 -I ?.�+,? -O�I �-I 9P | 

D. �? ?-I �}/ ?I  )- .े䜂 0I.?+1 9K-? 9P, -? �}/ ?I 
]}.)-� ��?) .े䜂 -I ?.�+,? -O�I �-I 9P | 
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Q70. Which type of chain is shown in the figure? 

 
 

A. Curb Chain B. Cable Chain 

C. Figaro Chain D. Infinity Link Chain 

Q70. (I�O &I }0I ��L =$ /े䜂 =�A $1B �ी }�}I1 �K =&�?0? }0? BP ? 

 
 

A. 0K?1O??िI �?�I0 B. ?O ?ि �?�I0 

C. +? ?0K �?�I0 D. 
1?- ?=I ??िI �?�I0 
 

Q71. Which amongst the following is true for Diesel Cycle in IC engines? 
 

A. Compression ratio is less. It is 7:1 to 10:1. B. Heat addition takes place at constant pressure. 

C. Efficiency is less. D. Petrol engines work on this cycle. 

Q71. =(म⹍( AO �L( ��$र1� &B(-��}( �O  !I}ल-�ि �O  =लए ABI BP ? 
 

A. /??? 
1I+?- ?. 9K-? 9P | /9 7:1 ?O 10:1 9K-? 9P | B. ��.? ?दृ♍�0 )1/;.- /??? +0 9K-? 9P | 

C. ??/)�.-? ?. 9K-I 9P | D. +O्䵏Kि �?�1 �? �्䵅 ?O  
1I??0 ??. ?0-O 9P | 
 

Q72. Dimensions of Young's modulus of elasticity are given by _______. 
 

A. L1M-1T-2 B. L-1M1T-2 

C. L-2M1T-2 D. L-1M-1T-1 

Q72. लK� �O  0�} /?+?�� (�1/0?}%$? �? 0�} /?+?��) �O  �0?/ _______ �?1? =&ए }?$O Bै䠂। 
 

A. L1M-1T-2 B. L-1M1T-2 

C. L-2M1T-2 D. L-1M-1T-1 
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Q73. Which component converts the mechanical energy of its prime-mover to hydraulic energy 
by sending hydraulic fluid at a high pressure into the system? 

 

A. Motors B. Filter 

C. Hydraulic pumps D. Reservoir 

Q73. �L( A? ��� =A}�/ /े䜂 �चᩍ� &-?? +1 B?�्䵑K=ल� $1ल +&?%ग .O}�1 
+(O �?�/-/K?1 (�o 0? /J_0) �?ल� �ी 0?�=}� �}?ग �K 
B?�्䵑K=ल� �}?ग /े䜂 +र1?=$ग$ �1$? BP? 

 

A. .K?0े䜂 B. �ि1I 

C. �?�?;ि- +?+ D. �ि??/ 

 

Q74. When is a fluid considered as compressible? 
 

A. When the ratio of the speed of flow to the 

speed of sound is less than 0.3 

B. When the ratio of the speed of flow to the 

speed of sound is more than 0.3 but less than 0.8 

C. When the ratio of the speed of flow to the 

speed of sound is more than 0.8 but less than 

0.12 

D. When the ratio of the speed of flow to the 

speed of sound is more than 3.0 

Q74. =�AI �}0 �K A�+I!M0 �- /?(? }?$? BP ? 
 

A. �? ?9?? ?I  )- ?? o?)1 ?I  )- ?O 
1I+?- 0.3 ?O ?. 

9K-? 9P | 
B. �? ?9?? ?I  )- ?? o?)1 ?I  )- ?O 
1I+?- 0.3 ?O 
जᱍ/?/? 9K-? 9P +0m-I 0.8 ?O ?. 9K-? 9P | 

C. �? ?9?? ?I  )- ?? o?)1 ?I  )- ?O 
1I+?- 0.8 ?O 
जᱍ/?/? 9K-? 9P +0m-I 0.12 ?O ?. 9K-? 9P | 

D. �? ?9?? ?I  )- ?? o?)1 ?I  )- ?O 
1I+?- 3.0 ?O 
जᱍ/?/? 9K-? 9P | 

 

Q75. What should be the velocity of the fluid in a hydraulic suction line? 
 

A. 4 to 6 feet/second B. 2 to 4 feet/second 

C. 10 to 15 feet/second D. Up to 30 feet/second 

Q75. =�AI �}0 �ी }=$ �?�?=ल$ �K@� �#?लI /े䜂 ]0? BK$I BP ? 
 

A. 4 ?O 6 feet/second B. 2 ?O 4 feet/second 

C. 10 ?O 15 feet/second D. 30 feet/second -? 
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Q76. Assume that you are creating a product by using traditional manufacturing process. Which 
of the following materials will you avoid to make the product? 

 

A. Steel B. Nickel 

C. Ceramic D. Titanium 

Q76. /?( लI=}0O �+ +1�+1?}$ =?=(/?ग# +p=$ �O  �}$O/?ल AO ए� �/+?& -(? 1BO Bै䠂। =(म⹍( ?}$J� /े䜂 AO =�AO �+ �/+?& -(?$O A/0 

�}$O/?ल /े䜂 (BK ले䜂}O ? 
 

A. �}+?- B. � ि? ()1?ि) 

C. .=ृ्䵈?? (?O0O;.?) D. 0?�?-I (??�?O)1/.) 

 

Q77. Which of the following situations occur to a dynamic load? 
 

A. It changes in magnitude and not in direction B. It increases gradually to a steady value 

C. It may change in magnitude and direction D. It does not change in magnitude and direction 

Q77. =(म⹍( +र1=}%=$0ो䬂 /े䜂 AO �L(AI +र1=}%=$ }=$} .?1 �O  A?% ��$I BP ? 
 

A. �??O  +90.?, .े䜂 ?/ि?? �-? 9P ? �/?? .े䜂 ?/ि?? 19I? 
�-? | 

B. /9 ्䵅.?: ]}.0 .?1 -? ?]-? 09-? 9P | 

C. �??I +90.?, ? �/?? ?/ि ??-I 9P | D. �??O  +90.?, ? �/?? 19I? ?/ि-O 9P | 
 

Q78. Assume that you are designing a shaft. In the process, you ensure that the stress of the 
shaft does not exceed the material yield stress. What method have you used when 
designing this shaft? 

 

A. Design based on strength B. Design based on stiffness 

C. Design based on stress D. Design based on materials 

Q78. /?( लI=}0O �+ ए� ??फ़幍� �? z+?��( �1 1BO Bै䠂। �A +p=$ /े䜂 �+ 0B AJ=(=ि$ �1$O Bै䠂 =� ??फ़幍� �? $(?? .L=$� �+} $(?? AO 

='� (BK BP| �A ??फ़幍� �O  z+?��( �O  =लए �+(O =�A =?=' �? �}$O/?ल =�0? BP ? 

 

A. ?]क-?O  �0?0 +0 z+???1 B. ?)K0-? ?O  �0?0 +0 z+???1 

C. /??? ?O  �0?0 +0 z+???1 D. ??.्䵇I ?O  �0?0 +0 z+???1 
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Q79. Name the key that consists of a semicircular key seat on the shaft surface to hold the key. 
 

A. Semicircular key B. Gib head key 

C. Square and rectangular Parallel key D. Woodruff key 

Q79. �A �J� }I �? (?/ -$?�ए =}A/े䜂 �J� }I 1�(O �O  =लए ??o� �ी A$B +1 ए� 
'ग?Lm?�?1 �J� }I AI� BK$I BP। 
 

A. 
0)?्ृ䵈???0 ?I? �I B. +चᩍ�0 ?I@) ?I? �I 

C. ? ?)??0 ? �/-???0 ?.?1??-0 ?I? �I D. ?I}0? ?I? �I 
 

Q80. The term 'root diameter' is also known as: 
 

A. Minor diameter B. Major diameter 

C. Pitch diameter D. Effective diameter 

Q80. '/Kल }0?A' ?m& �K �A z+ /े䜂 .I }?(? }?$? BP: 
 

A. ि!I }/?? B. ्䵚.I� }/?? 

C. ]}.0 }/?? D. ्䵚-??I }/?? 

 

Q81. In which type of cam, the cam profile is formed by connecting two discs with a distance at 
the axis? 

 

A. Cylindrical cam B. Translation cam 

C. Radial cam D. Conjugate cam 

Q81. =�A ��?1 �O  A?��O /े䜂, A?��O �? �?लO� &K �िो䬂 �K 
�1O�? +1 �J � &K1I +1 }K?�1 -(?0? }?$? BP ? 
 

A. ?Oि1???0 ???�? B. }.?1??-0, ???�? 

C. 
द♍)0}/?? ???�? D. 
1I?द♍0 ???�? 
 

Q82. What is a drive pulley in a belt conveyor? 
 

A. The pulley that is not attached to a power 

source 

B. The pulley that is attached to a power source 

and applies force on the belt 

C. The pulley that is attached within a tube D. The pulley that contains a spiral blade coiled 

around a shaft 
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Q82. ??B� +्䴾O /े䜂 ्䵑?�? +JलI ]0? BK$I BP ? 
 

A. ?9 +IिI �K ��?) ्䵨K- ?O 19I? �I=? 9I� 9P | B. ?9 +IिI �K ��?) ्䵨K- ?O �I=? 9I� 9P ? ?Oल㉍? +0 ?ि ि ?-? 
9P | 

C. ?9 +IिI �K 1िI ?O  
?/0 �I=? 9I� 9P | D. ?9 +IिI ]�?.O ??फ़幍? ?O  � /) }+?�0ि बⱍिO} ?I? };ि- 9P | 
 

Q83. Which type of crane is mounted on a carrier so that it could be moved to different places? 
 

A. Gantry crane B. Pillar crane 

C. Overhead crane D. Mobile crane 

Q83. ए� �P र101 +1 =�A $1B �ी िO ( +1 }K?? }?$? BP $?=� �AO =?=.m( }}Bो䬂 +1 लO }?0? }? A�O  ? 
 

A.  Pm्䵏I ्䵅O 1 B. }-म⹍- ्䵅O 1 

C. �+0I ्䵅O 1 D. �ि1?Iि ्䵅O 1 

 

Q84. What do the first two digits in an electrode classification indicate? 
 

A. Electrode's coating B. Welding type 

C. Strength D. Welding position 

Q84. �लO]रK! ?}I�1# /े䜂 +BलO &K 
�� ]0? &??ग$O Bै䠂? 
 

A. �िOक्䵏K} ?? �?0, B. ?O]ल㉍}?  ?? ्䵚??0 

C. ?]क- D. ?O]ल㉍}?  ]}.)- 
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Q85. Match the shielding gases with their characteristics. 

 
 

A. Helium - 2 , Oxygen - 3, Carbon dioxide - 1, 

Argon - 5, Nitrogen - 4 

B. Helium - 1 , Oxygen - 4, Carbon dioxide - 5, 

Argon - 3, Nitrogen - 2 

C. Helium - 3 , Oxygen - 1, Carbon dioxide - 4, 

Argon - 2, Nitrogen - 5 

D. Helium - 5 , Oxygen - 2, Carbon dioxide - 3 , 

Argon - 4, Nitrogen -1 

Q85. +र11�# }PAो䬂 �? �(�O  ल�#ो䬂 AO =/ल?( �ी=}0O| 
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A. 9I;ि/. - 2 , ऑक?I�1 - 3, ???)1 }?�ऑक??�} - 1, 

� )1 - 5, 1?�्䵏K�1 – 4 

B. 9I;ि/. - 1 , ऑक?I�1 - 4, ???)1 }?�ऑक??�} - 5, 

� )1 - 3, 1?�्䵏K�1 - 2 

C. 9I;ि/. - 3 , ऑक?I�1 - 1, ???)1 }?�ऑक??�} - 4, 

� )1 - 2, 1?�्䵏K�1 - 5 

D. 9I;ि/. - 5 , ऑक?I�1 - 2, ???)1 }?�ऑक??�} - 3 , 

� )1 - 4, 1?�्䵏K�1 - 1 

 

Q86. What are these types of weldability tests used for – Tekken test, Lehigh restraint test, 
Implant test and Controlled Thermal Severity test? 

 

A. Hot cracking test B. Cold cracking test 

C. Lamellar test D. Reheat cracking 

Q86. �A $1B �O  A�0Kजᱍ0$? +1I�# =�A=लए �}$O/?ल =�0O }?$O Bै䠂- �O]�O ( +1I�#, लOBI� =(0�}# +1I�#, �/0?1K+# +1I�# ? =(0�=}$ 
��/ $I्䵥$? +1I�# ? 

 

A.  0. �I0 +0I�, B. ?I- �I0 +0I�, 

C. }-90- +0I�, D. ्䵅P +??   ?K +?0 ?O  .) ?0े䜂 
 

Q87. How can you avoid cracking when welding medium carbon steel? 
 

A. Use preheat and post-heat treatment B. Treat it in room temperature 

C. Use additional welding filler metals D. Select the metal with carbon content of 0.21% 

Q87. /o0/ �?-ग( �}+?$ �ी ?O=्!�} �1$O A/0 ���?B�(.�}(/���() AO -�?(O �O  =लए �+ ]0? �1े䜂}O ? 
 

A. ्䵚I9I? ? +K}?-9I? ्䵚?K01 ?? �}-O.?ि B. ?� -?+ /? ??.?m/ -?+ +0 ्䵚?K01 

C. 
)-90क- ?O]ल㉍}?  +0ू? 0?-I ?? �}-O.?ि D. 0?-I ]�??I ???)1 .?्䵔? 0.21% ?? �I1?? 
 

Q88. The _____________ method helps to control distortion during butt welding of plates. 
 

A. Water-cooled jig B. Thermal stress relieving 

C. Strongback D. Shot peening 

Q88. _________ =?=' oलO�ो䬂 �ी �]�1 ??लI ?O=्!�} /े䜂 =?z+# =(0�}# /े䜂 /&& �1$I BP| 
 

A. +?1I द♍??0? )?}? +?/? 1.ू1? B. ��. -1?? 0?9- 

C. .�?-ू ??+?I D.  I;ि?? !1-?=1 
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Q89. Which of the following stress relieving treatments involves heating the weldment, holding 
at temperature and then a controlled cooling? 

 

A. Vibratory stress relief treatment B. Mechanical treatment 

C. Thermal treatment D. Postweld heat treatment 

Q89. =(म⹍( /े䜂 AO =�A $(?? 1?B$ �?K'( /े䜂 �ल?� �K }1/ �1(?, �� $?+ +1 1�(? �1 =,1 =(0�=}$ ?I$ल( }PAI �=ि0?ए ??=/ल BK$I 
Bै䠂? 

 

A. ?? +?/.?1 -1?? 0?9- ्䵚?K01 B. /??}्䵔? ्䵚?K01 

C. ��. ्䵚?K01 D. +K}?-?Oल㉍} -?+ ्䵚?K01 

 

Q90. Assume that you are inspecting an x-ray film of a material. You see some dark lines in the 
x-ray. How should you interpret these lines? 

 

A. Those lines indicate high density and thickness 

of the material. 

B. Those lines appear due to defects such as 

porosity and cracks. 

C. Those lines appear due to the folds and designs 

in the material. 

D. Those lines indicate less energy absorption in 

the material. 

Q90. /?( लI=}0O �+ =�AI ?}$J �ी x-ray =,्/ �? =(1I�# �1 1BO Bै䠂। �+�K x-ray /े䜂 �J � �?लI ल�ी1े䜂 =&�$I Bै䠂। �+ �( ल�ी1ो䬂 
�ी =�A ��?1 }0?_0? �1े䜂}O? 

 

A. /O ि?I0े䜂 ?}-I ?O  �चᩍ� !1m? ? .K??� ?K /??)-O 9ै䠂। B. /O ि?I0े䜂 ?0?�-? ? �??1O �P?O ्䵔I�?/ो䬂 ?I ?�9 ?O �/�?� 
/O-I 9ै䠂। 

C. /O ि?I0े䜂 ?}-I ?I ;?ि??ो䬂 ? �?ृ)-/ो䬂 ?I ?�9 ?O �/�?� 
/O-I 9ै䠂। 

D. /O ि?I0े䜂 ?}-I .े䜂 
ल㉍+ ��?) 
??K@, /??)-I 9ै䠂। 
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